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QUESTION 1

The output of the ppriv command lists four privilege sets. Which option best describes the Inherited privilege set? 

A. It is the privilege set that nonroot users may inherit. 

B. It is the privilege set an effective-user process may inherit. 

C. It is the privilege set only privilege-aware child processes may inherit. 

D. It is the privilege set the current process inherited. 

Correct Answer: D 

 

QUESTION 2

You appended a site-specific Rights Profile to the /etc/security/prof_attr file. Which file will be updated as a result of this
operation? 

A. /etc/security/prof_attr.d/local-entries 

B. /etc/security/prof_attr.d/prof_attr 

C. /etc/security/prof_attr.d/core-os 

D. /etc/user_attr 

Correct Answer: C 

 

QUESTION 3

Assume you are on a system that has a valid use account johnjay Consider the following command-line invocation: 

rolemod p "Network Administrator,All,Stop" johnjay What is the result? 

A. The user will not acquire profiles allowed in /etc/secutity/policy.conf 

B. There is no effect. The user acquires all profiles before the Stop profile is read. 

C. The system will return an error. 

D. The user gets Network Administrator profile and all profiles listed in the All macro. 

Correct Answer: D 

 

QUESTION 4

Which statement is true regarding an aggregation? 
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A. Its member links must all have the same range of operating speeds. 

B. It can be called out by its link name or by its integer key. 

C. Its LACP mode sets the behavior to active or passive. 

D. Its default L2 policy is round-robin. 

Correct Answer: C 

 

QUESTION 5

Laura is a user and netadm is a role on a Solaris 11 system. You want to allow Laura to generate SSH keys. Which two
steps should be taken? 

A. Verify that netadm includes the Network Management profile. 

B. Verify that laura has permission to access the Network Management profile. 

C. Verify that the Network Management profile includes the netadm role. 

D. Add a line for the ssh-keygen command to the file auth_attr.d/local-entries. 

E. Add a line for the ssh-keygen command to the file exec_attr.d/local-entries. 

Correct Answer: AD 
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